
Consult factory for all other models.

TO ORDER REPLACEMENT PARTS:
PLEASE FURNISH THE FOLLOWING INFORMATION:

 
 

• Model number
• Part number of pump 
• Part number and description of part

P/N 084247

REPLACEMENT PARTS LIST
FOR MODELS:

- 1 - 
 © Copyright 2021 Zoeller   Co. All rights reserved.®

ZT0316_ECc

1021

Supersedes

0219

Product information presented 
here re fl  emit ta snoit id noc stce 
of  publication. Consult factory 

 ro seic na perc sid gni drag er
.seic net sis noc ni

Register your
Zoeller Pump Company
Product on our website:

http://reg.zoellerpumps.com/

Visit our website:
www.zoellerpumps.com

Notice to Installer:  Instructions must remain with installation.

WIRING DIAGRAM FOR MODELS
"WB88, WD88, WM88, WU88"

WIRING DIAGRAM FOR MODELS
"D88, M88, U88, BK88"

WIRING DIAGRAM FOR MODELS
"E88, N88, V88, BL88"

AUTOMATIC

WM88, M88

WU88, U88

WB88, BK88

WD88, D88

N88

V88

BL88

E88

115V

220V

220V

230V

60Hz

50Hz

60Hz

60Hz

NONAUTOMATIC



REPLACEMENT PARTS LIST FOR MODELS WD88, WM88, WU88.

REPLACEMENT PARTS ILLUSTRATION FOR MODELS WD88, WM88, WU88.

- 2 - 
 © Copyright 2021 Zoeller   Co. All rights reserved.®

W/O PLUG PLUG

Note:
1. See chart for di�erent type and length of cords available,
    Consult factory or authorized distributor for any details.
2. When replacing this part,we advise to order an O-ring       too.
3. When replacing this part,we advise to order an Screw Assy       too.
4. When replacing this part,we advise to order an O-ring       too.
5."N/A" indicates, not applicable.

WU88

88-0013, C
88-0032, A

080880

N/A

084355

080238

084360

080893

080162

080160

086358

N/A

080235

084093

081893

083412

080894

083415

080879

WD88

88-0021, A

080880

N/A

084355

080238

084360

080893

080162

080160

084357

N/A

080235

084093

080738

083412

080894

083415

080879

WM88

88-0005, A

080880

N/A

084355

080238

084360

080893

080162

080160

084359

N/A

080235

084093

080738

083412

080894

083415

080879

DESCRIPTION

Screw, M5X15L

Power Cord Assy

Float Set Assy

Seal, O-ring 19x2

Screw Assy

Screw, M6*1P*(15Lor16L)

Cap

Seal, O-ring

Capacitor Assy

Motor & Motor Housing

Seal, lip NBR/4*11.2*24/Type B

Seal Assembly

Impeller

Pump Housing

Screw, M5X0.8PX15L

Pump Base

Screw, M4X15L

QTY

4

1

1

2

1

4

1

1

1

1

1

1

1

1

4

1

8

NOTES

2, 3, 4

REF
NO.

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

MODELS:

88-0021, A

88-0005, A

88-0032, A

081710

084348

084349

88-0013, C084350

NEMA 6-20 Plug

W/O Plug

BS 1363A Plug

Power Cord

Length

10’

15’

Plug Spec Part no. Item no.



REPLACEMENT PARTS LIST FOR MODELS D88, M88, U88.

- 3 - 
 © Copyright 2021 Zoeller   Co. All rights reserved.®

REPLACEMENT PARTS ILLUSTRATION FOR MODELS D88, M88, U88.

Note:
1. See chart for di�erent type and length of cords available.
    Consult factory or authorized distributor for any details.
2. When replacing this part,we advise to order an O-ring       too.
3. When replacing this part,we advise to order an Screw Assy       too.
4. When replacing this part,we advise to order an O-ring       too.
5. When replacing this p part,we advise to order an O-ring       too.
6. "N/A" indicates, not applicable.

88-0040, A

080880

N/A

080879

082981

083115

081232

080238

084360

080893

082982

080160

084357

084226

N/A

080235

084093

081893

083500

080894

080879

083501

U88

88-0018, B
88-0037, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081893

083413

080894

080879

083416

M88

88-0006, C
88-0011, B

080880

N/A

080879

080202

083115

080780

080238

084360

080893

080201

080160

084359

084226

N/A

080235

084093

080738

083413

080894

080879

083416

88-0035, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

082138

080894

080879

083416

D88

88-0020, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

083413

080894

080879

083416

88-0014, D
88-0039, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084358

084226

N/A

080235

084093

081893

083413

080894

080879

083416

DESCRIPTION

Screw, M5X15L

Power Cord Assy

Screw, M4X15L

Cover, Wire box

Seal, Packing NBR

Circuit Board

Seal, O-ring 19x2

Screw Assy

Screw, M6*1P*(15Lor16L)

Cap

Seal, O-ring

Capacitor Assy

Float Set, Vertical

Motor & Motor Housing

Seal, lip NBR/4*11.2*24/Type B

Seal Assembly

Impeller

Pump Housing

Screw, M5X0.8PX15L

Pump Base

Screw, M4X15L

QTY

2

1

6

1

1

1

1

1

4

1

1

1

1

1

1

1

1

1

4

1

8

NOTES

2

2

2, 3, 4, 5

REF
NO.

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

20

21

MODELS:

88-0039, A

88-0011, B

88-0037, A

88-0018, B

88-0006, C

88-0020, A

88-0018, B

084348

081698

084352

88-0014, D

88-0040, A

084350

084353

NEMA 5-15 Plug

NEMA 6-15 Plug

GB1002-2008 Plug

BS 1363A Plug

AS3112

Power Cord

Length

10’

15’

Plug Spec Part no. Item no.



- 4 - 
 © Copyright 2021 Zoeller   Co. All rights reserved.®

REPLACEMENT PARTS LIST FOR MODELS E88, N88, V88.

REPLACEMENT PARTS ILLUSTRATION FOR MODELS E88, N88, V88.

W/O PLUG PLUG

Note:
1. See chart for di�erent type and length of cords available.
    Consult factory or authorized distributor for any details.
2. When replacing this part,we advise to order an O-ring       too.
3. When replacing this part,we advise to order an Screw Assy      too.
4. When replacing this part,we advise to order an O-ring       too.
5. "N/A" indicates, not applicable.

88-0017, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

081893

083412

080894

083412

080879

V88

88-0012, B

080880

N/A

080238

084360

080893

080729

080160

084358

N/A

080235

084093

081893

083412

080894

083415

080879

E88

88-0010, B
88-0022, B

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

080738

083412

080894

083415

080879

N88

88-0007, B
88-0023, B

080880

N/A

080238

084360

080893

080729

080160

084359

N/A

080235

084093

080738

083412

080894

083415

080879

DESCRIPTION

Screw, M5X15L

Power Cord Assy

Seal, O-ring 19x2

Screw Assy

Screw, M6*1P*(15Lor16L)

Cap

Seal, O-ring

Capacitor Assy

Motor & Motor Housing

Seal, lip NBR/4*11.2*24/Type B

Seal Assembly

Impeller

Pump Housing

Screw, M5X0.8PX15L

Pump Base

Screw, M4X15L

QTY

2

1

1

1

4

1

1

1

1

1

1

1

1

4

1

8

NOTES

2, 3, 4

REF
NO.

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

MODELS:

88-0023, B88-0007, B

88-0010, B

88-0022, B

084348

084349

084347

88-0017 B

88-0012, B

084352

084350

NEMA 5-15 Plug

W/O Plug

NEMA 6-15 Plug

GB1002-2008

BS 1363A

Power Cord

Length

10’

15’

Plug Spec Part no. Item no.



- 5 - 
 © Copyright 2021 Zoeller   Co. All rights reserved.®

REPLACEMENT PARTS LIST FOR MODELS WB88, WU88.

W/O PLUG PLUG

WU88

88-0024, A

080880

N/A

084355

080238

084360

080893

080162

080160

084357

N/A

080235

084093

081893

081070

080894

080302

WB88

88-0027, A

080880

N/A

084356

080238

084360

080893

080162

080160

084357

N/A

080235

084093

080738

082603

080894

080302

DESCRIPTION

Screw, M5X15L

Power Cord Assy

Float Set Assy

Seal, O-ring 19x2

Screw Assy

Screw, M6*1P*(15Lor16L)

Cap

Seal, O-ring

Capacitor Assy

Motor & Motor Housing

Seal, lip NBR/4*11.2*24/Type B

Seal Assembly

Impeller

Pump Housing

Screw, M5X0.8PX15L

Screw, M12X1.75PX12L

QTY

2

1

1

1

1

4

1

1

1

1

1

1

1

1

4

4

NOTES

2, 3, 4

REF
NO.

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

MODELS:

88-0027, A

88-0024, A

084351

084349

CEE 7-VII

W/O Plug

Power Cord

Length

10’

Plug Spec Part no. Item no.

REPLACEMENT PARTS ILLUSTRATION FOR MODELS WB88, WU88.

Note:
1. See chart for di�erent type and length of cords available.
    Consult factory or authorized distributor for any details.
2. When replacing this part,we advise to order an O-ring       too.
3. When replacing this part,we advise to order an Screw Assy       too.
4. When replacing this part,we advise to order an O-ring       too.
5. "N/A" indicates, not applicable.



- 6 - 
 © Copyright 2021 Zoeller   Co. All rights reserved.®

REPLACEMENT PARTS LIST FOR MODELS D88, U88, BK88.

W/O PLUG PLUG

BK88

88-0028, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

082606

080894

080302

88-0041, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081893

082136

080894

080302

88-0031, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

081069

080894

080302

DESCRIPTION

Screw, M5X15L

Power Cord Assy

Screw, M4X15L

Cover, Wire box

Seal, Packing NBR

Circuit Board

Seal, O-ring 19x2

Screw Assy

Screw, M6*1P*(15Lor16L)

Cap

Seal, O-ring

Capacitor Assy

Float Set, Vertical

Motor & Motor Housing

Seal, lip NBR/4*11.2*24/Type B

Seal Assembly

Impeller

Pump Housing

Screw, M5X0.8PX15L

Screw, M12X1.75PX12L

QTY

2

1

6

1

1

1

1

1

4

1

1

1

1

1

1

1

1

1

4

4

NOTES

2

2

2, 3, 4, 5

D88

88-0035, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

082138

080894

080302

88-0038, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

081069

080894

080302

88-0026, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081893

081069

080894

080302

U88

88-0034, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081903

082138

080894

080302

REF
NO.

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

20

MODELS:

88-0034, A88-0031, A88-0026, A

88-0038, A

88-0028, A

084349

084354

084351

88-0035 A

88-0041, A

084347

084352

W/O Plug

NEMA 5-15 Plug

CEE 7-VII

NEMA 6-20 Plug

GB1002-2008 PLUG

Power Cord

Length

10’

Plug Spec Part no. Item no.

REPLACEMENT PARTS ILLUSTRATION FOR MODELS D88, U88, BK88.

Note:
1. See chart for di�erent type and length of cords available.
    Consult factory or authorized distributor for any details.
2. When replacing this part,we advise to order an O-ring       too.
3. When replacing this part,we advise to order an Screw Assy       too.
4. When replacing this part,we advise to order an O-ring       too.
5. When replacing this p part,we advise to order an O-ring       too.
6. "N/A" indicates, not applicable.



W/O PLUG PLUG

- 7 - 
 © Copyright 2021 Zoeller   Co. All rights reserved.®

REPLACEMENT PARTS LIST FOR MODELS E88, V88, BL88.

BL88

88-0029, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

080738

082603

080894

080302

V88

88-0033, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

081893

082137

080894

080302

E88

88-0009, B

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

080738

082871

080894

080302

88-0025, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

081893

081070

080894

080302

DESCRIPTION

Screw, M5X15L

Power Cord Assy

Screw, O-ring 19x2

Screw Assy

Screw, M6*1P*(15Lor16L)

Cap

Seal, O-ring

Capacitor Assy

Motor & Motor Housing

Seal, lip NBR/4*11.2*24/Type B

Seal Assembly

Impeller

Pump Housing

Screw, M5X0.8PX15L

Screw, M12X1.75PX12L

QTY

2

1

1

1

4

1

1

1

1

1

1

1

1

4

4

NOTES

2, 3, 4

REF
NO.

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

MODELS:

88-0033, A88-0025, A88-0009, A

88-0029, A

084349

084351

W/O Plug

CEE 7-VII

Power Cord

Length

10’

Plug Spec Part no. Item no.

REPLACEMENT PARTS ILLUSTRATION FOR MODELS E88, V88, BL88.

Note:
1. See chart for di�erent type and length of cords available.
    Consult factory or authorized distributor for any details.
2. When replacing this part,we advise to order an O-ring       too.
3. When replacing this part,we advise to order an Screw Assy       too.
4. When replacing this part,we advise to order an O-ring       too.
5. "N/A" indicates, not applicable.



 
•
 
型號

 
•
 
泵浦的零件編號

 

 

• 零件編號及零件說明

其他的所有型號請洽詢工廠

如欲訂購更換零件，請提供以下資訊:

以下型號的配線圖 以下型號的配線圖 以下型號的配線圖

© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 1 - 

安裝前務必詳讀說明書

以下型號使用的更換零件清單:

文件僅供參考

恕不另行通知
若有任何修改

請至美國卓勒泵浦公司
官網完成您的產品註冊

Visit our website:
www.zoellerpumps.com

自 動

WM88, M88

WU88, U88

WB88, BK88

WD88, D88

N88

V88

BL88

E88

115V

220V

220V

230V

60Hz

50Hz

60Hz

60Hz

非 自 動

"WB88, WD88, WM88, WU88" "D88, M88, U88, BK88" "E88, N88, V88, BL88"



© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 2 - 

型號 WD88, WM88, WU88 的更換零件清單

型號 WD88, WM88, WU88 的更換零件圖解

WU88

88-0013, C
88-0032, A

080880

N/A

084355

080238

084360

080893

080162

080160

086358

N/A

080235

084093

081893

083412

080894

083415

080879

WD88

88-0021, A

080880

N/A

084355

080238

084360

080893

080162

080160

084357

N/A

080235

084093

080738

083412

080894

083415

080879

WM88

88-0005, A

080880

N/A

084355

080238

084360

080893

080162

080160

084359

N/A

080235

084093

080738

083412

080894

083415

080879

說明

螺絲, M5X15L

電源線

浮球組件

密封件，O 型環 19x2

螺絲組件

螺絲, M6*1P*(15L或16L)

上蓋

密封，O 型環

電容器組件

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

泵浦外殼

螺絲, M5X0.8PX15L

泵浦底座

螺絲, M4X15L

數量

4

1

1

2

1

4

1

1

1

1

1

1

1

1

4

1

8

備註

2, 3, 4

參考

序號

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

型號:

插頭無插頭

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

“N/A” 表示不適用

88-0021, A

88-0005, A

88-0032, A

081710

084348

084349

88-0013, C084350

NEMA 6-20 插頭

無插頭

BS 1363A 插頭

電源線

長度

10’

15’

插頭規格 零件編號 項目編號



© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 3 - 

型號 D88, M88, U88 的更換零件清單

型號 D88, M88, U88 的更換零件圖解

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

6. “N/A” 表示不適用
更換此零件時，我們建議也訂購一個 O型環 

88-0040, A

080880

N/A

080879

082981

083115

081232

080238

084360

080893

082982

080160

084357

084226

N/A

080235

084093

081893

083500

080894

080879

083501

U88

88-0018, B
88-0037, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081893

083413

080894

080879

083416

M88

88-0006, C
88-0011, B

080880

N/A

080879

080202

083115

080780

080238

084360

080893

080201

080160

084359

084226

N/A

080235

084093

080738

083413

080894

080879

083416

88-0035, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

082138

080894

080879

083416

D88

88-0020, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

083413

080894

080879

083416

88-0014, D
88-0039, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084358

084226

N/A

080235

084093

081893

083413

080894

080879

083416

螺絲, M5X15L

電源線

螺絲, M4X15L

護蓋，電線盒

密封，墊片 NBR

電路板

密封, O 型環 19x2

螺絲組件

螺絲, M6*1P*(15Lor16L)

上蓋

密封, O 型環

電容器組件

浮球組，垂直

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

泵浦外殼

螺絲, M5X0.8PX15L

泵浦底座

螺絲, M4X15L

說明

2

1

6

1

1

1

1

1

4

1

1

1

1

1

1

1

1

1

4

1

8

數量 備註

2

2

2, 3, 4, 5

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

20

21

參考

序號

型號:

88-0039, A

88-0011, B

88-0037, A

88-0018, B

88-0006, C

88-0020, A

88-0018, B

084348

081689

084352

88-0014, D

88-0040, A

084350

084353

NEMA 5-15 插頭

NEMA 6-15 插頭

GB1002-2008 插頭

BS 1363A 插頭

AS3112

電源線

長度

10’

15’

插頭規格 零件編號 項目編號



© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 4 - 

型號 E88, N88, V88 的更換零件清單

型號 E88, N88, V88 的更換零件圖解

插頭無插頭

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

“N/A” 表示不適用

88-0017, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

081893

083412

080894

083412

080879

V88

88-0012, B

080880

N/A

080238

084360

080893

080729

080160

084358

N/A

080235

084093

081893

083412

080894

083415

080879

E88

88-0010, B
88-0022, B

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

080738

083412

080894

083415

080879

N88

88-0007, B
88-0023, B

080880

N/A

080238

084360

080893

080729

080160

084359

N/A

080235

084093

080738

083412

080894

083415

080879

螺絲, M5X15L

電源線

密封, O 型環 19x2

螺絲組件

螺絲, M6*1P*(15Lor16L)

上蓋

密封, O 型環

電容器組件

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

泵浦外殼

螺絲, M5X0.8PX15L

泵浦底座

螺絲, M4X15L

說明 數量

2

1

1

1

4

1

1

1

1

1

1

1

1

4

1

8

備註

2, 3, 4

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

參考

序號

型號:

88-0023, B88-0007, B

88-0010, B

88-0022, B

084348

084349

084347

88-0017 B

88-0012, B

084352

084350

NEMA 5-15 插頭

無插頭

NEMA 6-15 插頭

GB1002-2008

BS 1363A

電源線

長度

10’

15’

插頭規格 零件編號 項目編號



© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 5 - 

型號 WB88, WU88 的更換零件清單

型號 WB88, WU88 的更換零件圖解

插頭無插頭

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

“N/A” 表示不適用

WU88

88-0024, A

080880

N/A

084355

080238

084360

080893

080162

080160

084357

N/A

080235

084093

081893

081070

080894

080302

WB88

88-0027, A

080880

N/A

084356

080238

084360

080893

080162

080160

084357

N/A

080235

084093

080738

082603

080894

080302

螺絲, M5X15L

電源線

浮球組件

密封, O 型環 19x2

螺絲組件

螺絲, M6*1P*(15Lor16L)

上蓋

密封, O 型環

電容器組件

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

泵浦外殼

螺絲, M5X0.8PX15L

螺絲, M12X1.75PX12L

說明 數量

2

1

1

1

1

4

1

1

1

1

1

1

1

1

4

4

備註

2, 3, 4

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

參考

序號

型號:

88-0027, A

88-0024, A

084351

084349

CEE 7-VII

無插頭

電源線

長度

10’

插頭規格 零件編號 項目編號



© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 6 - 

型號 D88, U88, BK88 的更換零件清單

型號 D88, U88, BK88 的更換零件圖解

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

6. “N/A” 表示不適用
更換此零件時，我們建議也訂購一個 O型環 

插頭無插頭

BK88

88-0028, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

082606

080894

080302

88-0041, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081893

082136

080894

080302

88-0031, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

081069

080894

080302

螺絲, M5X15L

電源線

螺絲, M4X15L

護蓋，電線盒

密封，墊片 NBR

電路板

密封, O 型環 19x2

螺絲組件

螺絲, M6*1P*(15Lor16L)

上蓋

密封, O 型環

電容器組件

浮球組，垂直

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

泵浦外殼

螺絲, M5X0.8PX15L

螺絲, M12X1.75PX12L

說明 數量

2

1

6

1

1

1

1

1

4

1

1

1

1

1

1

1

1

1

4

4

備註

2

2

2, 3, 4, 5

D88

88-0035, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

082138

080894

080302

88-0038, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

081069

080894

080302

88-0026, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081893

081069

080894

080302

U88

88-0034, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081903

082138

080894

080302

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

20

參考

序號

型號:

88-0034, A88-0031, A88-0026, A

88-0038, A

88-0028, A

084349

084354

084351

88-0035 A

88-0041, A

084347

084352

無插頭

NEMA 5-15 插頭

CEE 7-VII

NEMA 6-20 插頭

GB1002-2008 插頭

電源線

長度

10’

插頭規格 零件編號 項目編號



插頭無插頭

© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 7 - 

型號 E88, V88, BL88 的更換零件清單

型號 E88, V88, BL88 的更換零件圖解

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

“N/A” 表示不適用

BL88

88-0029, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

080738

082603

080894

080302

V88

88-0033, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

081893

082137

080894

080302

E88

88-0009, B

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

080738

082871

080894

080302

88-0025, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

081893

081070

080894

080302

螺絲, M5X15L

電源線

密封, O 型環 19x2

螺絲組件

螺絲, M6*1P*(15Lor16L)

上蓋

密封, O 型環

電容器組件

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

泵浦外殼

螺絲, M5X0.8PX15L

螺絲, M12X1.75PX12L

說明 數量

2

1

1

1

4

1

1

1

1

1

1

1

1

4

4

備註

2, 3, 4

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

參考

序號

型號:

88-0033, A88-0025, A88-0009, A

88-0029, A

084349

084351

無插頭

CEE 7-VII

電源線

長度

10’

插頭規格 零件編號 項目編號



 
 

 

其他的所有型號請洽詢工廠 

 
  

 

•
 
型號

•
 
水泵的零件編號

• 零件編號及零件說明

如欲訂購更換零件，請提供以下資訊:

以下型號使用的更換零件清單:

安裝前務必詳讀說明書

文件僅供參考

恕不另行通知

若有任何修改

請至美國卓勒水泵公司
官网完成您的產品注冊

© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 1 - 

Visit our website:
www.zoellerpumps.com

自 動

WM88, M88

WU88, U88

WB88, BK88

WD88, D88

N88

V88

BL88

E88

115V

220V

220V

230V

60Hz

50Hz

60Hz

60Hz

非 自 動

以下型號的配線圖 以下型號的配線圖 以下型號的配線圖
"WB88, WD88, WM88, WU88" "D88, M88, U88, BK88" "E88, N88, V88, BL88"



型號 WD88, WM88, WU88 的更換零件清單

WU88

88-0013, C
88-0032, A

080880

N/A

084355

080238

084360

080893

080162

080160

086358

N/A

080235

084093

081893

083412

080894

083415

080879

WD88

88-0021, A

080880

N/A

084355

080238

084360

080893

080162

080160

084357

N/A

080235

084093

080738

083412

080894

083415

080879

WM88

88-0005, A

080880

N/A

084355

080238

084360

080893

080162

080160

084359

N/A

080235

084093

080738

083412

080894

083415

080879

說明

螺絲, M5X15L

電源線

浮子組件

密封件，O 型環 19x2

螺絲組件

螺絲, M6*1P*(15L或16L)

上蓋

密封，O 型環

電容器組件

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

水泵外殼

螺絲, M5X0.8PX15L

水泵底座

螺絲, M4X15L

數量

4

1

1

2

1

4

1

1

1

1

1

1

1

1

4

1

8

備註

2, 3, 4

參考

序號

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

型號:

88-0021, A

88-0005, A

88-0032, A

081710

084348

084349

88-0013, C084350

NEMA 6-20 插頭

無插頭

BS 1363A 插頭

電源線

長度

10’

15’

插頭規格 零件編號 項目編號

型號 WD88, WM88, WU88 的更換零件圖解

© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 2 - 

插頭無插頭

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

“N/A” 表示不適用



型號 D88, M88, U88 的更換零件清單

型號 D88, M88, U88 的更換零件圖解

88-0040, A

080880

N/A

080879

082981

083115

081232

080238

084360

080893

082982

080160

084357

084226

N/A

080235

084093

081893

083500

080894

080879

083501

U88

88-0018, B
88-0037, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081893

083413

080894

080879

083416

M88

88-0006, C
88-0011, B

080880

N/A

080879

080202

083115

080780

080238

084360

080893

080201

080160

084359

084226

N/A

080235

084093

080738

083413

080894

080879

083416

88-0035, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

082138

080894

080879

083416

D88

88-0020, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

083413

080894

080879

083416

88-0014, D
88-0039, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084358

084226

N/A

080235

084093

081893

083413

080894

080879

083416

螺絲, M5X15L

電源線

螺絲, M4X15L

護蓋，電線盒

密封，墊片 NBR

電路板

密封, O 型環 19x2

螺絲組件

螺絲, M6*1P*(15Lor16L)

上蓋

密封, O 型環

電容器組件

浮子組，垂直

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

水泵外殼

螺絲, M5X0.8PX15L

水泵底座

螺絲, M4X15L

說明

2

1

6

1

1

1

1

1

4

1

1

1

1

1

1

1

1

1

4

1

8

數量 備註

2

2

2, 3, 4, 5

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

20

21

參考

序號

型號:

88-0039, A

88-0011, B

88-0037, A

88-0018, B

88-0006, C

88-0020, A

88-0018, B

084348

081698

084352

88-0014, D

88-0040, A

084350

084353

NEMA 5-15 插頭

NEMA 6-15 插頭

GB1002-2008 插頭

BS 1363A 插頭

AS3112

電源線

長度

10’

15’

插頭規格 零件編號 項目編號

© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 3 - 

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

6. “N/A” 表示不適用
更換此零件時，我們建議也訂購一個 O型環 



© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 4 - 

插頭無插頭

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

“N/A” 表示不適用

型號 E88, N88, V88 的更換零件清單

型號 E88, N88, V88 的更換零件圖解

88-0017, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

081893

083412

080894

083412

080879

V88

88-0012, B

080880

N/A

080238

084360

080893

080729

080160

084358

N/A

080235

084093

081893

083412

080894

083415

080879

E88

88-0010, B
88-0022, B

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

080738

083412

080894

083415

080879

N88

88-0007, B
88-0023, B

080880

N/A

080238

084360

080893

080729

080160

084359

N/A

080235

084093

080738

083412

080894

083415

080879

螺絲, M5X15L

電源線

密封, O 型環 19x2

螺絲組件

螺絲, M6*1P*(15Lor16L)

上蓋

密封, O 型環

電容器組件

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

水泵外殼

螺絲, M5X0.8PX15L

水泵底座

螺絲, M4X15L

說明 數量

2

1

1

1

4

1

1

1

1

1

1

1

1

4

1

8

備註

2, 3, 4

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

參考

序號

型號:

88-0023, B88-0007, B

88-0010, B

88-0022, B

084348

084349

084347

88-0017 B

88-0012, B

084352

084350

NEMA 5-15 插頭

無插頭

NEMA 6-15 插頭

GB1002-2008

BS 1363A

電源線

長度

10’

15’

插頭規格 零件編號 項目編號



© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 5 - 

型號 WB88, WU88 的更換零件清單

WU88

88-0024, A

080880

N/A

084355

080238

084360

080893

080162

080160

084357

N/A

080235

084093

081893

081070

080894

080302

WB88

88-0027, A

080880

N/A

084356

080238

084360

080893

080162

080160

084357

N/A

080235

084093

080738

082603

080894

080302

螺絲, M5X15L

電源線

浮子組件

密封, O 型環 19x2

螺絲組件

螺絲, M6*1P*(15Lor16L)

上蓋

密封, O 型環

電容器組件

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

水泵外殼

螺絲, M5X0.8PX15L

螺絲, M12X1.75PX12L

說明 數量

2

1

1

1

1

4

1

1

1

1

1

1

1

1

4

4

備註

2, 3, 4

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

參考

序號

型號:

88-0027, A

88-0024, A

084351

084349

CEE 7-VII

無插頭

電源線

長度

10’

插頭規格 零件編號 項目編號

型號 WB88, WU88 的更換零件圖解

插頭無插頭

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

“N/A” 表示不適用



© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 6 - 

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

6. “N/A” 表示不適用
更換此零件時，我們建議也訂購一個 O型環 

型號 D88, U88, BK88 的更換零件清單

型號 D88, U88, BK88 的更換零件圖解

BK88

88-0028, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

082606

080894

080302

88-0041, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081893

082136

080894

080302

88-0031, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

081069

080894

080302

螺絲, M5X15L

電源線

螺絲, M4X15L

護蓋，電線盒

密封，墊片 NBR

電路板

密封, O 型環 19x2

螺絲組件

螺絲, M6*1P*(15Lor16L)

上蓋

密封, O 型環

電容器組件

浮子組，垂直

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

水泵外殼

螺絲, M5X0.8PX15L

螺絲, M12X1.75PX12L

說明 數量

2

1

6

1

1

1

1

1

4

1

1

1

1

1

1

1

1

1

4

4

備註

2

2

2, 3, 4, 5

D88

88-0035, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

082138

080894

080302

88-0038, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

080738

081069

080894

080302

88-0026, D

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081893

081069

080894

080302

U88

88-0034, A

080880

N/A

080879

080202

083115

081232

080238

084360

080893

080201

080160

084357

084226

N/A

080235

084093

081903

082138

080894

080302

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

20

參考

序號

型號:

88-0034, A88-0031, A88-0026, A

88-0038, A

88-0028, A

084349

084354

084351

88-0035 A

88-0041, A

084347

084352

無插頭

NEMA 5-15 插頭

CEE 7-VII

NEMA 6-20 插頭

GB1002-2008 插頭

電源線

長度

10’

插頭規格 零件編號 項目編號

插頭無插頭



插頭無插頭

© 版權所有 : 2021 Zoeller 公司。翻印必究。®

- 7 - 

備註

1. 請參閱不同型式及可用電源線長度的圖表。有關細節，請洽詢工廠或授權經銷商。
2. 更換此零件時，我們建議也訂購一個 O型環 

4.
5.

 更換此零件時，我們建議也訂購一個 O型環 
更換此零件時，我們建議也訂購一個 螺絲組件 3. 

“N/A” 表示不適用

型號 E88, V88, BL88 的更換零件清單

BL88

88-0029, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

080738

082603

080894

080302

V88

88-0033, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

081893

082137

080894

080302

E88

88-0009, B

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

080738

082871

080894

080302

88-0025, A

080880

N/A

080238

084360

080893

080729

080160

084357

N/A

080235

084093

081893

081070

080894

080302

螺絲, M5X15L

電源線

密封, O 型環 19x2

螺絲組件

螺絲, M6*1P*(15Lor16L)

上蓋

密封, O 型環

電容器組件

馬達 & 馬達外殼

密封，油封 NBR/4*11.2*24/型式 B

密封組件

葉輪

水泵外殼

螺絲, M5X0.8PX15L

螺絲, M12X1.75PX12L

說明 數量

2

1

1

1

4

1

1

1

1

1

1

1

1

4

4

備註

2, 3, 4

01

02

03

04

05

06

07

08

09

10

11

12

13

14

15

參考

序號

型號:

88-0033, A88-0025, A88-0009, A

88-0029, A

084349

084351

無插頭

CEE 7-VII

電源線

長度

10’

插頭規格 零件編號 項目編號

型號 E88, V88, BL88 的更換零件圖解


	084247 ZT0316_E
	084247 ZT0316_Ca
	084247 ZT0316_Cb

